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4) All questions are compulsory. Solve any one sub question from each Question 1 and 2 and any

three sub questions each from Questions 3 and 4.

Question Description

a) Write a Java code to represent given matrix in form of
sparse matrix. '

b) Given the numbers (10, 15, 20, 25, 30) identify the
appropriate search algorithm that will be used to search 25
In given list of numbers. Determine the number of steps
required to search 25, write the algorithm for searching and
mention the time complexity of algorithm,
a) Write a Java code to insert (at end), delete (from front), and
display the nodes of Singly Link list (SLL). Write the time
complexity of insertion at end and deletion from front of SLL

b) Compare SLL, pDLL and CLL. Write Java code to insert
node in CLL,

a) Write a java code for string reverse using STACK and
Justify use of stack for reversing the string

b) Write an algorithm to convert an infix string to postfix.

COo3
Give an example for infix to postfix conversjon,

c} Evaluate following postfix expression using stack, Show all

CO3
Steps. Expression : 241-3*+

d) Show step by step conversion of infix expression to prefix
expression. (A+B) * {C-D)
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Q.4

a) Apply Queue as an ADT for ticket reservation counter

b) Compare Linear Queue and Deque. The size of Deque is 5.
Determine the output if following steps of action are done:
deque.addRear(1);

deque.addRear (2);

deque.addFront(3);

deque.addFront{4);

Also determine the index of front and rear.

¢} Write a java code to implement insert and delete functions
of circular queue using array.

d) Determine the sequence of objects in priority queue given,
the value of object is the priority of object: (100, 10, 65, 50,
12, 8, 110, 25). Give 3 applications of priority queue.
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